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Hi#4 : Alexander Farrell. 2022. America Today: Culture, Society and History, p.93. ¥A1#t. —Efekzs

B2 4 (10* 1=1O)'

1 : I want to be retired and spend my time on my hobbies. (12 words)
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#E3M : (6*4=24)

a from (our) b " (together) like (in)
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H488 * James C. House + ZIFETF. 2022. Britain Joday: Culture, Society and History, p.72. ¥iigit. —H3E

B2 | o (10*1=10)

. f1 : 1 like watching horror movies because I enjoy the feeling of being scared. (13 words)
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% 34 (6*4=24)
a want you : Rt b“ you remember

c| on with d no sleep
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ZA =120°, S=143

(6)

a=47, b=11.2
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